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20000001, CLRUSHY GLUUUNRSLEP X 38074,8 - 38 074,8 | 932082 - 93254,1 [ 147106,3 - | 147169,6 | 190269,0 - | 1902825
(;nnn 2112000+wnnn 2113000)
2112000{2. MUTSALULUL HUUUTLAPCLER I3 217 - 21,7 514,9 - 664,9 809,3 - 976,7 1211,5 3 14332
nnhg'
2112300)2.3. Ubpphts wuzymbulyuits spudagnphbby” aynugdué x 2217 | - 21,7 5149 | - 664,9 809,3 = 976,7 12115 - 14332
0 Jwnifts o Lihbnh
2112310]2.3.1. pupwghl Ubppht wwpunnbwlwl Rpwdwyunphutip' | 733100 01,7 - o7 514,9 - 664,9 809,3 - 976,7 1211,5 - 14332
unwgywd unwwplwl wy Jwywpnwlubphg, wn
aulnul’
2112311]2.3.1.1. whunwlwy pjrigkhg, X .7 - 1,7 5149 - 664,9 809,3 - 976,7 1211,5 - 14332
uun ool
21123122.3.1.1.1. whinnipyuts ynndhg wuwindhpuwliduwd dwhuutph X 217 21,7 514,9 | 150,0 664,9 8093 | 167.4 976.,7 12,5 217 14332
thnbshuinnianul
2112313]2.3.1.2. hwdujlpUtinh pimobliinhg x - - = - 5 . _ ,
2113000(3. USL LUUNKSLLP X 37853,1 = 37853,1| 926933 - 92589,2 | 146297,0 - | 146192,9] 1890575 - | 1888493
o
2113100]3.1. Ghwdnunbbp ubwlwbnien X 104,1 - 104,1 2082 - 1041 208,2 = 104,1 3123 - 104,1
2113130]3.1.3. qnuph Junduwluwinupiniuhg bhwdnunutn 741500 104.1 104,1 208.2 | (104.) 104.1 2082 | _(1041) 104, 312.3 | (2082) 104.1
2113400/3.4. Wy Yuunbignphwlbipnd snwuwlungyuws x | 377490 - 377490 | 924851 - 924851 | 146 088,8 ~ | 1460888 | 1887452 - | 1887452
inwbubbnintiin ‘ '
21134103.4.1. Uy Yunbgnphwlibpnul snwuwlwnqywd pipwghly | 744100 | 37749,0 | - 37749,0 | 92485, - 92485,1 | 146 088,8 - | 1460888 | 1887452 - | 1887452
wnowliubbninbibin ’ ’ ’
2113411]3.4.1.1 Unipuhnutibn [ x 37749,0 377490 | 92485,1 924851 | 146 088,8 1460888 | 1887452 - | 1887452
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€071, CLHUUBLE TUhUGP X 45 319,3 R 45319,3 | 100452,7 T 1004986 | 1476878 | 1478321
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uun oulont
1110000(1. U USULLP 4Urausrnh@3nhy X 38201,0 38201,0| 879060 - 88766,1 | 114 578,0 - 116 630,3

(wnn 1111000+ winn, 1112000+tnnn 1113000 +wnnn

1100000 X | #5393 - | 453193 996527 | - | 996986 [ 1456878 - | ws8321| 1938135 - | 13870

156 768,0 - 160 295,4

1115000+wnn 1116000)
uun oiloul
1111000] - Ugtuwwnnnutiph woluwnwywndtp b hwybwyswpubn 411100 38201,0 38201,0 | 87906,0| 860, 88 766,1 114578.0 | 20523 | 1166303 156 768,0 | 3527.4 | 160295,4
11200002, BUNUBNRESARLLECP B4 UMPULLALEPD X 6974,3 - 6974,3 | 114935 - 10 679,3 30276,8 - 28 241,3 36105,4 - 324415
QAEMLPEMNRY
(tnnn 1121000+ winn 1122000 + winn 1123000+ ninn
1124000+ winn 1125000+ winn 1126000)
1121000 2.1. Cwpmibwlwlwl Swiuuby x 6424,3 - 64243 | 90285 - 82143 | 107488 - 87133 155004 - 11 836,5
1121100| - Snpdwnlwlyuwb b pullyuihl Sdwnwynipjniutinh 421100 - = - - - - = -
1121200] - Eutipgbnhly dwnwinipiniuutn 421200 | 53200 53200 6 458,0 6 458,0 6700,0 6700,0] 95000 9500,0
1121300) - Yndniliw) Swnwjnipiniuubip 421300 230,0 230,0 420,0 420,0 610,0 610,0 850,0 850,0
1121400] - Ywwh dwawynipjntubin 421400 60,0 60,0 115,0 115,0 182,0 182,0 265,2 265,2
1121700] - Ununwgbpuwnbuswlwt dwiuubp 421700 8143 8143 20355 (8142 12213 3256,8 | (20355) 1221,3 4885,2 | (3663.9) 12213
1123000|2.3. Nuydwbiwgpuyhls wyy & i x 160 | - 16,0 122,0 - 122,0 128,0 B 128,0 135,0 B 135,0
bnppbipnud
1123100] - dwpswlwl dwowjnieiniuubip 423100 - - - - - - - =
1123200] - Cwdwlwpgswihl dwnwjniejniiubp 423200 - - 95,0 95,0 95,0 95,0 95,0 95,0
1123300] - Ugluwinwwquh dwuliwghunwlwl qunquguwl 423300 = - — - - - - -
Suounnipiniubn
1123400] - Snblywindwlwl dwnwinyp|nditbn 423400 16,0 16,0 27,0 270 33,0 33,0 40,0 40,0 |
1124000]2.4. Uy; swubwqhypuwljul ynipaynibibph x 135,0 - 135,0 285,0 - 285,0 550,0 - 550,0 800,0 - 800,0
dbnppbipmd.
1124100] - Uwubwaqhunwluwl dwnwjnipiniutbip 424100 135,0 1350 285,0 285,0 550,0 550,0 800.0 800,0
1125000 | 2.5. Cupuwghy tnpngmd b wwhwwbnd x 259,0 - 259,0 1538,0 - 1538,0 17 840,0 - 17 840,0 17 870,0 - 17 870,0
Swnwnyaimbbbp b tympbp)
1125100| - Ctuptinh L jwnnygutiph pupwghy unpngnud L 425100 250,0 250,0 720,0 720,0 17 000,0 17 000,0 | 17 000,0 17 000,0
pwhwinud
1125200 - Ubipbuwubiph U uwppwynpnwdubiph pupwghy unpngnu 425200 9,0 9,0 818,0 818,0 840,0 840,0 870,0 870,0
L wiwhybinnf
1126000 2.6. Ujniplip (wuypwhipibip) x 140,0 - 140,0 520,0 - 520,0 1010,0 - 1010,0 1800,0 - 1800,0
1126100] - Spwublywlwiht Yniptp U hwanwun 426100 40,0 40,0 120,0 120,0 260,0 260,0 500,0 500,0
1126700] - Ybtqunuwiht U hwbpwiht ubtinh Uinuebn 426700 - - 100,0 100,0 250,0 250,0 400,0 400,0
1126800] - Cwuinil bywunwluihl wy Vjnyptn 426900 100,0 100,0 300,0 300,0 500,0 500,0 900,0 900,0
1160000]6. UNShULULUL LAUUSLER X - - 2 - - = - - 127,5 - - 150,0
Jnul®
1162000(6.2. Unghuuljut oqumpjuils npwduwlut x = - - - - - - - 127,5 - - 150,0
wppwhuppnuypudp bywupntl nighif
1162700| - Yppwlwl, Jwynypwiht b uwnpuwht Uwwuwnubp 472700 - - 3 - E 1275 1275 - 150,0 150,0
ouniobha
1162800] - Puwlwpwlwht Ywwuwnbbip pjniwbhg 472800 - = n . b _ _ _

1162900] - Uy Uwwuwnubp pinigbihg 472900 - . o - =




00/ 7. UBL DURUGP x 144,0 144,0 253,2 833,0 8330 940, 940,1
win puowl’
1172000 7.2. Cwplybp, wwpipwnpp Gwpbbp b qinydtp, npntip x 144,0 144,0 253,2 833,0 833,0 940,1 940,1
fI I‘I{“Y IFL' r'1 L s ‘1“”"’"’1‘]”9
1172100} - Upbvwwnwywndh $nun 482100 5 - = 5 - = =
1172200 - Uy hwplbn 482200 52,0 52,0 70,0 88,5 88,5 106,8 106,8
1172300] - Mwpuwnhp YSwpubp 482300 92,0 92,0 183,2 744,5 744,5 8333 833,3
1172400{ - MbGnwlwl hwindwdh nwppbip dwywpnwlubph 482400 - - - - : - -
4000000{P. N2 HhLULULLUL ULShULEN X . P 800,0 2000,0 2000,0 | 3700,0 3700,0
(winn 1200000 + 1300000)
win @iyl
1200000{PLL N2 HPLULULLUL UUSPULERP GONY TUUGE x - - 800,0 2 000,0 2000,0 | 37000 3700,0
wn puoul
1210000\1‘ <hULULUL UhRNSLED x - - 800,0 2 000,0 20000 | 37000 3700,0
nnhg'
512200 - - 800,0 2000,0 2000,0 { 3700,0 3700,0
3000000{11l. CLHUELE HUVTULUL UhRNSLENh H5Hh8hS X 72445 72445 72445 581,5 662,5 72445 72445
- 000}
5000000{iV. ¥6Hh8hSh HLLULULUNLU UL UARSARPLENC 72445 72445 72445 72445 72445 72445 72445
5124000 2.4. Guiquwlbpuynipjuils bipbpf phlwbuwynpdubl x 72445 72445 72445 | 72445 72445 | 72445 72445
munngnn puipbulqph dhonglibp
5125000 2.5. Ywqdwlbpuniypjwt hwydhg (wquup duwgnpn) x - - - - - - -
hudwyupwufuwl pyrgh thnfuwtigynn dhgngliby
wyn pynul®
5125100{2.5.1. wbwnwlwl pinigh X - - = = < - _
5125200{2.5.2. hwdwiupubiph pinigbilitin X & - = g N N =
5126000|2.6. <wpdbipnt dwdwbiuljuypguibinud X (0,0) (0,0) - 6 663,0 6582,0 - -
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